ALGEBRA II REVIEW PROBLEMS
(Chapters 6 and 12)

Solve the following:

1. A committee has 7 members. One member is to be selected as chairperson and another
member is to be selected as secretary. In how many ways can these selections be made?

2. Two coins are selected from 5 coins (3 dimes and 2 quarters). What is the probability that
at least one coin is a dime?

Do the following:

3. Expand (2x +5y)* 4. Find the third term of (x — 3y)°

Answer the following:

S. Find the following probabilities of selecting a card from a standard deck of 52 cards:
a. P(black card) b. P(red jack)
6. You toss a coin and roll a die. Find the probability of getting a head and an even number.

7. A single die is rolled. Find the probability of getting:
a. A number greater than 3 or an odd number

b. A number greater than 3 and an odd number

8. If three dice are rolled, find the probability of getting triples (1-1-1, 2-2-2, 3-3-3 etc).

9. A die is loaded so that the number 6 comes up three times as often as any other number.
What is the probability of rolling a 1 or 6?

10. An event A will occur with probability 0.5 and an event B will occur with probability of
0.6. The probability that both A and B will occur is 0.1. Find the conditional probability
of A given B.



11. Below is a table of suicides committed in a recent year classified by gender and whether
or not a firearm was used:

Male Female

Firearm 16,381 2,559

Other 9,034 3,536
a. P(a firearm was used)

b. P(firearm | female)

C. P(female and firearm)
d. P(firearm | male)

€. P(male | firearm)

12.  Suppose that 8% of the patients in a small town are known to have heart disease. And
suppose that a test is available that is positive in 96% of the patients with heart disease
but is also positive in 7% of patients who do not have heart disease.

a. Draw a tree diagram with all probabilities marked
b. If a person from the town is selected at random and given the test and it comes out
positive, what is the probability that the person actually has heart disease?

13. Mark has applied to both Harvard and the University of Florida. He thinks the

probability that Harvard will admit him is 0.4, the probability that Florida will admit him
is 0.5 and the probability that both will admit him is 0.2.

a. Make a Venn diagram with the probabilities marked

b. What is the probability that neither university admits Mark?
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